PHYSICS TOP 100 QUESTION WITH ANSWER:
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Tl 1. dFAfeTar (o) FT THoIHSe AHF o-
(i) Folld’/ TgeA-HeT

(iii) =gt FeATA

(iii) =g aA/amelie

(iv) =eaA-atee/HeT’

W= (i) Far / Fea-HeT

W 2. dga-a1T A dfaar FT qEF &
(i) Fe/ea

(ii) Sfet/=e=T

(iii) =ge=A/elTH

(iv) #g=1/HT

F- (i) ~gE/FATT

weeT 3. et A @ Fle-ar dqga-a1T FT AEF G 82
(i) rZI(\EFl/a:T»r“I'TH

(ii) Aree-#ex

(iii) STet/ehelte

(iv) STeT-FellA/HIET

F- (i) S{ev/FATH

Wt 4. fagga waFw FT AEF -

(i) et

(ii) Aree-Hrex

(iii) Aree/A@EX

(iv) 7gET-HeT/gHalA

3WR- (i) aree-Aex

(1 37)

(2014,15,20, 22)

(2015, 16, 17)

(2014, 18, 19)

(2017, 18, 19, 20, 23)



weeT 5. Ifaefier A I FIET §-
qT YRTEE) Ired & IR H 3cdeer &7 T 8- (2019, 23)
(i) el degd &

(ii) Shaer gFehrg &1

(iii) SeFaT Ta GFaHIT & SNl

(iv) degaT vd kg &1 H § HIS 60

3- (i) ¥ TrahT &7

WS 6. qFIHIT 81T HT T FT A T 8-

I AR 8T FT AEF T o- (2015, 16, 20)

(i) IS x He
(ii) qe/He’
(N EEES

(iv) dsR/H

3- (i) deT/HE 2

9T 7. (poko)™/? &1 AL - (2014, 16, 18, 19)
(i) 3 x 10° Q#H/AHUZ

(i) 3 x 10" aH/AwUs

(i) 3 x 10° H#H/AHUS

(iv) 3 x 10® e/ Qv

3= (ii) 3 x 10"° dH/AFUs

YT 8. T L-C-RIRUY 1 yemadl 4mr & @ & gt 3 B eferg A Rufa & oo
oy vd yaifgd aRT # FdAa @9m- (2017, 18, 22)

(i) =T

(i) /4



(iii) /2

(iv)

I - (i) T

Yo 9. T Yeradi IR9Y & R=1000, X: = 3002 TFUT Xc = 200 Hofispar & 53 ¥ 3R Rega
qEd 9o dUT YaIed ORT A Fa=d? gl (2019, 20)

(i) 0°

(i) 30°

(iii) 45°

(iv) 90°

3R- (iii) 45°

9o 10. 1/\/[1ok0 &T ATHF &- (2015,16,18,20,23)
(i) =g/l

(i) Fa

(iii) IeT/A?

(iv) ves

3= (i) A/



